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Exam Dumps Actual Questions NO.62 Function modules provide which types of parameters?

There are 4 correct answers to this question.

Response:

* Input

* Output

* |nput/output (changing)
* Return values

* Exceptions

NO.63 Which events can exist in al types of programs that actually contain executable statements?

* AT USER-COMMAND
* AT PRt
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* INITIALIZATION

* LOAD-OF-PROGRAM
* AT LINE-SELECTION
* START-OF-SELECTION

NO.64 Which statements are considered obsolete and cannot be used in ABAP Objects?

Please select all the correct answers that apply.

Response:

* TABLES

* DATA &#8230; TY PE &#8230; OCCURS

* DATA &#8230; BEGIN OF &#8230; OCCURS
* INFOTYPES

* RANGES

* LEAVE

* ON CHANGE OF

* SEARCH

* LOOP AT dbtab

NO.65 Which of the following tools and programming techniques use the SQL data definition language? There are 2 correct
answers to this question.

* Core data service (CDS) access control

* Open SQL

* ABAP Dictionary

* Core data services (CDS) data definition

NO.66 The Repository Browser is started by default when you execute Transaction SE80 for the Object Navigator
* True
* Fase

NO.67 Which of the following statements are true? Select all that apply

* Projection views can have more than one table included for the view definition.

* You cannot use a pooled or cluster table for a database view.

* The tablesincluded in the maintenance view should have foreign key relationships.
* Thetablesincluded in the help view should have foreign key relationships.

NO.68 What is the root class in the RTTS inheritance tree? Please choose the correct answer.
* CL_ABAP TYPEDESCR

* CL_ABAP_ELEMDESCR

* CL_ABAP_DATADESCR

* CL_ABAP_COMPLEXDESCR

NO.69 What is the result of the following arithmetic operation?
DATA:int TYPEI.
int = 5%(3/10).{ 1 Richtig}

*1
* D2
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* 15
*0

NO.70 What is unique about a functional method?

There are 5 correct answers to this question.

Response:

* |t must contain areturning parameter.
* |t can contain an importing parameter.
* |t can contain an exporting parameter.
* |t can contain a changing parameter.

* |t can be used in logical expressions.
* |t can be used in SELECT statements.
* It must be asingleton.

NO.71 Global datatypes defined in SAP systems are& #8230;
* ABAP Dictionary types.

* Datadefined in the program that is visible to all the routines/statements & #8216;-& #8216; within the ABAP program.

* Date types defined in the program using ABAP Dictionary types.

NO.72 The Debugger displays a maximum of eight data objects at one time.
* True
* Fase

NO.73 Which classis used to define areference for an instance of the ALV Object Model?

* ClassCL_GUI_ALV_GRID
* ClassCL_GUI_CUSTOM_CONTAINER
* ClassCL_SALV_TABLE

NO.74 What does a Web Dynpro component contain?
There are 3 correct answers to this question.

Response:

* Multiple views within a window
* Ul elements

* Component controller

* A context

* Exactly one interface controller

NO.75 Which of the following is atrue statement? Select al that apply

* A package can be nested.

*All customer repository objects have to be assigned to a package.

* Packages use interfaces and visibility to make their elements visible to other packages.
* The transport layer is amandatory input field for the package

NO.76 An ABAP program processes the following expression:;

r=al/b+c
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Which of the following data declarations would cause the runtime environment to use fixed-point arithmetic for the above
expression?

There are 2 correct answers to this question
Note: Answers of this question are not verified by our experts, please study yourself and select the appropriate answers.

Response:
* DATA: r TYPET,

aTYPEi VALUE 201,
b TYPEi VALUE 200,

CTYPET.
* DATA:r TYPE p DECIMALS 2,

aTYPEi VALUE 201,
b TYPEi VALUE 200,

cTYPE
* DATA:r TYPE p DECMALS?2,

aTYPEi VLAUE 201,
b TYPE i VALUE 200,

CTYPET.
* DATA:r TYPEDp,

atypel VALUE 201,

b type | VALUE 200,

ctypei.

NO.77 What is the best order to provide an event handler for an ALV?

* Createthe ALV, write the handler, register for the event, display the ALV
* Write the handler, register for the event, create the ALV, display the ALV
* Write the handler, createthe ALV, display the ALV, register for the event
* Register for the event, write the handler, create the ALV, display the ALV
* Writethe handler, createthe ALV, register for the event, display the ALV
NO.78 A work process& #8230;

Please choose the correct answer.

Response:
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* Stayslinked toa screen through the dispatcher.

* Becomes inactive while waiting for a user.

* Uses acommon memory area called shared memory.

* Becomes active while waiting for a user.

NO.79 Customer exits provide program exit, screen exit, and menu exit enhancements.

* True

* Fase

NO.80 A screen has the following PAI flow logic:

PROCESS AFTER INPUT

FIELD A MODULE check_A

FIELD A MODULE check_B

CHAIN.

FIELD:C,D

MODULE check_CD

ENDCHAIN

FIELD:C,B.

MODULE check_CB

ENDCHAIN

What happens if the application senda a type E message during the check_CB module processing?

Please choose the correct answer.

Note: Answers of this question are not verified by our experts, please study yourself and select the appropriate answers.
Response:

(1/1 Points)

* The screen is displayed again and the PBO flow logic is processed. Only fields B and C are ready for input.
* The screen is displayed again without processing the PBO logic flow. Only fields B and C are ready for input.
* The screen isNOT displayed again. Processing terminates and the user must restart the ABAP program.D.
* The screen is displayed again without processing the PBO flow logic. All fields are ready for input.

NO.81 Which property of the InputField Ul element must be bound to a context attribute?

Please choose the correct answer.

Response:
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* dtate
* enable
* value
* visible

NO.82 Function modules provide which types of parameters? Select all that apply.
* Return values

* Qutput

* Exceptions

* Input

* |nput/output (changing)

C_TAW12 750 exam dumpswith real SAP questions and answers:
https://www.validexam.com/C TAW12_750-latest-dumps.html]

[Jul 11, 2022] 100% Pass Guarantee for C_TAW12_750 Dumps with Actual Exam Questions [ Q62-Q82] | Page6/6 |


https://premium.validexam.com/?p=64
https://www.validexam.com/C_TAW12_750-latest-dumps.html
https://premium.validexam.com/?p=64

